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: SECTION-A
QNol: There are four possible answers (A,B,C,D) for cach question. Select the correct one and write it in the . -
answer box. - : T LT AR :

i. A digital stop watch has an accuracy of upto- : __ second, ‘ 7
2) 0.1 b) 0.01 Vc) 0.001 w2 .. ‘f"“"“
ii. Which one of the following is not a derived quﬂn’tity? L e L e e, T
2) Time- b)rDe.nsity - ©) Volime - o) Area ; L
iti.  Which one of the. following is a vector. quantity? o ; o *" """"
a) Charge b) Volume ¢) Velocity - d)vSpgc(rl_ T
iv.  The rate of change of velocity is called . B 7 C ":; ——__..A___
a) Acceleration ~ b) Displacement (i)SpCﬁd T d) Distance ©= - : . .7'—'._“' -
v.  Which one is the unit of weight?. ; 5 ‘ o o T
: "a)':'.f\;"c‘wl-on - ' b) Kilogram . | o ‘c) Melcr . ) m-,s’l | L.t

vi.  Anti~elock wise torque is taken . ) _ e e e

. : : 3 Vs i : ' e
a) Negative b} Positive c) Parallel - . d)Zero o

Vll The centripetal force is given by equation . e s e

2.2 2 2 . i T e
N .o omive v o o
Yk = """ b) o = —’T— ¢) F = —r— d) Feo 2 —

vili. ~The value of “g” at the centre of carthis _____ : e : :

a) Maximum b)Y p Ghg . d)Zeo e Lo

ix. - Therate of doing worktis,deﬁn_c_d 43 , . b g e : ‘I“C“

a) Lnergy _ - b} Foiee ¢) Power : d) Momenturh

»

The density of mercury in kgm? is _ T . , N

, . a)looo b) 2000 - 96000 - .4y . e

1
. _ . ) \ - ) ) = s ey,
xi. - The temperature of a normal human body is . : , .

8) 32F BT 9K . asrl _A .
ﬂ’, » Which one of the following is the best heat conductor? ‘ ' ' l'—

;1) Copper ) Tin <) Soft iron d) Aluminium T
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QZ} _ ,'Answer any Ll(-ll'l‘ parts of ilu. following. Each pnrt eﬂrles equul mnrlu

i ":"Why area is callec1 a derwcd quantlty?

it.  Define rest and molwn

iii.  Differentiate bc;we‘.n Mass and wexght

iv.  What is meant by Rolling Friction?

“v.  Whatisthe uc,Llorutlon produced by a force of 10N exmcd onan objut of JOOO;,!

vi.  Explain why door handles arc uot put acar hinges?

vii. State law of universal gravitation?

viti,  Define work and encrgy.

ix.  $tate and explain Hooke's law,

X, What is clesticity? Explain,

xi.  Write note on clinical thermoneter, i’

SE(‘ TION-C Marks: 21

Note: Atiempt any THREE of the follnwing. AII qucsllons carry a.qu.tl ey Im

®

Q3. (a)
{b)
Q@
T(b)
Qs. (w
% @

®

Deline physics. Dressribe moin bmx.&.hus of physics.

Explain different types of mation.

State and explait: Newton®s fuws of motion. -,
What furce wouli) be needed to produm & uu,clcr.mun of 10 m/skein a ball of mass 0.5 ‘Lp"

Stale an:l explain centripetal force,
Caleulate the s of a body when a force of 700N prudurcs an .Mf-lx.mnon of 2. S ny/sec??

,Define km_chc energy. Prove that K.E. ’/3 mv?,

A bullet of mass 30g travels at a speed of 1500n/sce. Caleulate its kinetic energy.
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